EARAROBEEIERT — 2 N— IBISH —F

2016588140 (H) 1H#L1E6H

SR N

5

CES)

[($57E] Fikb

‘ [R1%] & ‘ [REBE] — | Z (A) 18000 B

[A~&£] 1 7% :7,000,000  ~ 23 :2,800,000 33 :1,800,000” 43 :1,100,000F ~ 5 j& :700,000 M

REBS MK HE BF (FE) g4 L (&%) | BBIER | EOF SR | AR | HhE | BRE (FIR) / BE / £ERS
. J. ELAT 152, 44 . . BT (El)
JYIR=Jb 4 2 50 7 1(5_2)8 5-4-4-2 | 34.9| 77.7 | 1 (432) m(ﬁ){?ﬁ)j_:_l/_:/yj
L:vA7% B:LILR—I (B) HA-FL—-ya>aEI7
Y r/TLZR #o2 | A 1( 7525? 6-6-65 |34.6| 77.9 | 2 (436) gﬁgz& (=8
L:F=TANNT N B b/ TIIRR HET77—L
S R t 2 | SHE 1:53.4 2-1-1-1 [ 35.8| 67.5 | 4 458 | BEKAFE (ER)
A—-K7M1EX * 54.0 3 1/2) (o) | W) B-Fk-2957
L:A—-K7ILTF1v% B:T7EFIL TATAT7—L4
- R — : 44~ FHiE (Ex)
NI ECE 42 an (11.533/.47) 4-4-4-5 | 35.7| 66.1 | 3 (456) Eiilfa
R:N—E>Tv— B:¥h/aUT J—HrTr—L
3 g 2 | TSR 1:54.0 3-3-2-2 | 36.3| 59.4 | 6 510 | BEFB— (GEH)
5|55 7 KLZX # 5.0 @ (=) H.EH. ST ENAR
L:F4—TANA B:T—IT714vTI0L7 H—L—+TvN> - T7—LBRS
- &5 .54. o3 . . REmE— (%)
6 6 g1 )3 )% — 2 BN 1 (554)8 1-2-3-4 | 37.0| 49.1 7 (4i0) ST
:IANRZXTNGT BETRT—AJL BR= MBS
. 4 2 | EHES 1:58.5 7-7-7-7 | 40.0| 18.9 | 5 462 | FIHIEE (Ei#)
7 4 L1714 —-2X 5.0 (24 4) (—) (H) 15?57 K77 —L
L:F1—=TAHA B:FI1XILETY KA
@ 1L
£ 48.1-35.2
NAa24 L | 13.2-12.1-13.0-13.1-13.3-12.9-12.3-11.5-11 .4
® 1—F—@EBIERL
1T=7r= (%6,3)-5,1,2,7-4
20—F— (6,%3)-5(1,2)7-4
== 3,5,6(1,2)7-4
43—+ — 3(5,2)6(1,7)=4
[ /N
B 2 190/ 714K 2-7 140H B E 2-7 240 JEE 2-3-7 790M
# B 2 110M 2-3 270M B H 2=/ 420M JEE 2-7-3 1,960M
7 130M 3-7 360M

ABICOVWTRDTEEERROODE. TR LIV,




